
Atomic Structure Answers 
 

1. The Atomic Number of an element shows the number of: ​Protons 
2. The Atomic Mass of an atom shows the number of: ​Protons + Neutrons 
3. The number of Neutrons can be calculated by taking the ​Atomic Mass​ and subtracting the ​Atomic Number​. 
4. Protons have a ​positive​ charge and electrons have a ​negative​ charge. 
5. Atoms are usually neutral (they have an equal number of positive and negative charges). Therefore, the number of ​protons 

is equal to the number of ​electrons​ in an atom. 

Element 
Name 

Element 
Symbol 

Atomic 
Number 

Atomic  
Mass 

Number of 
Electrons 

Number of 
Protons 

Number of 
Neutrons 

Oxygen O 8 16 8 8 8 

Carbon C 6 12 6 6 6 

Hydrogen H 1 1 1 1 0 

Nitrogen N 7 14 7 7 7 

Calcium Ca 20 40 20 20 20 

Phosphorus P 15 31 15 15 16 

Chlorine Cl 17 35 17 17 18 

Magnesium Mg 12 24 12 12 12 

Silicon Si 14 28 14 14 14 

Potassium K 19 39 19 19 20 

Strontium Sr 38 88 38 38 50 

Francium Fr 87 223 87 87 136 

Xenon Xe 54 131 54 54 77 



Find answers with the Periodic Table on the 2nd page or here: ​http://www.ptable.com/  
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